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Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

Walters could face for his role in the robbery.

1) prohibition 2) prosecution 3) collaboration 4) violation
The officer's historical role as a street cleaner occasionally required a measure of
and imagination.

1) embezzlement 2) submission 3) masterpiece 4) dexterity
The daughter had all the brains and did all the accounts—the son was just the
boss of the business.

1) nominal 2) tenable 3) unpretentious 4) decent
After the tennis match the boys the sandwiches in seconds.
1) devoured 2) engraved 3) affronted 4) hallowed
Over the centuries, these animals have become to living in a dry environment.
1) inhibited 2) conducive 3) habituated 4) offensive
The results provide the most and conclusive evidence to date of some enduring
inequities in participation in such facilities.
1) ambivalent 2) authoritative 3) inflexible 4) excessive
Language acquisition is one of the central topics in cognitive science. Every theory of
cognition has tried to explain it; probably no other topic has such controversy.
1) assented to 2) appreciated 3) speculated 4) aroused
As supporter of the value of free trade, Bennett was often called upon to give speeches
around the world extolling the of unencumbered commerce.
1) demerits 2) ambiguities 3) virtues 4) euphemisms
those who challenge your thesis is more insulting than attacking them outright.
1) Verifying 2) Amusing 3) Ignoring 4) Seeking

The student's purpose is specific and well defined, yet his method could be described as

1) wholehearted 2) haphazard 3) autonomous 4) credible

Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

I each space. Then mark your answer sheet.

Since World War [I, direct observation of marine organisms in their natural habitats has
been made possible by underwater cameras, television,(11) , and submersible craft, or
submarines, that can descend to great depths. Underwater television provides the observer with
a continuous picture of events (12) within the field of the submerged camera. The
development of self-contained diving equipment made it possible (13) marine
organisms in their natural habitat.

Morphological and taxonomic studies of marine organisms are generally performed on
preserved materials in connection with the work in museums and universities. Physiological
and embryological investigations requiring the use of living material (14) generally
pursued at biological stations. These are situated on the seacoast, (15) the rapid
transfer of specimens to the laboratory where they may be maintained in seawater provided by
special circulating systems.

1) to improve diving equipment 2) improve equipment to dive

3) improving equipment of diving 4) improved diving equipment

1) that occur 2) to occur 3) occur 4) occurred

1) that the investigator inspect 2) for the inspector to investigate

3) to inspect the investigator by 4) that investigator’s inspection of

1)is 2) to be 3) are 4) being

1) facilitated 2) and facilitate 3) that facilitates 4) thus facilitating
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

16-

17-

18-

20-

Passage 1:

In economics and finance, nothing can be measured with the precision possible in the
physical sciences.However, approximate measurement is often sufficient as long as the method
of measurement remains the same over time. It is important for anyone who is considering
buying stock in a company to know that the usual methods of accounting have been followed.

Unfortunately, even when auditors certify that a company has prepared its financial reports
properly, they cannot always be certain that all figures are 100 percent accurate. Because a
company's books are not open to public scrutiny. it is possible for a company to distort its
financial status. Accounting scandals occur because of dishonesty, questionable accounting
practices. or outright criminal behavior. Although the accounting profession and government
agencies have attempted to reform some of these abuses, the principle of caveat emptor—let the
buyer beware—must still guide one's financial transactions.

What is the passage mainly about?

1) Buying stock

2) Measurement in economics and finance

3) How to make figures totally accurate

4) Accuracy in measurement in different sciences

Why does the author mention the physical sciences in paragraph 1?

1) To compare the physical sciences unfavorably with other sciences

2) To point out that financial measurements are not always precise

3) To explain why methods of measurement are important in different fields

4) To argue that economics and finance should be considered physical sciences
The passage indicates that companies ------------

1) all try to follow the usual method of acwuntmg

2) hire auditors to prepare financial reports for them

3) may lie about their financial status to the public

4) do not allow auditors to check their financial status

The word “scrutiny” in line 7 is closet in meaning to ------------- 3

1) authority 2) examination 3) relation 4) standard
Why does the author mention the principle of caveat emptor in paragraph 2?
1) To argue that buying stock is the best way to make money fast

2) To recommend that government review all stock purchases

3) To criticize inadequate efforts to stop bad accounting practices

4) To warn potential buyers of the possibility of accounting abuses
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Passage 2:

The organization that today is known as the Bank of America did start out in America,
but under quite a different name. [talian American A.P. Giannini established this bank on
October 17, 1904, in a renovated saloon in San Francisco's [talian community of North
Beach under the name Bank of Italy, with immigrants and first-time bank customers
comprising the majority of his first customers. During its development, Giannini's bank
survived major crises in the form of a natural disaster and a major economic upheaval
that not all other banks were able to overcome.

One major test for Giannini's bank occurred on April 18. 1906, when a massive
earthquake struck San Francisco, followed by a raging fire that destroyed much of the
city. Giannini obtained two wagons and teams of horses. filled the wagons with the
banks' reserves, mostly in the form of gold, covered the reserves with crates of oranges,
and escaped from the chaos of the city with his clients' funds protected. In the aftermath
of the disaster, Giannini's bank was the first to resume operations. Unable to install the
bank in a proper office setting, Giannini opened up shop on the Washington Street Wharf
on a makeshift desk created from board and barrels.

In the period following the 1906 fire, the Bank of Italy continued to prosper and
expand. By 1918 there were twenty-four branches of the Bank of Italy, and by 1928
Giannini had acquired numerous other banks, including a Bank of America located in
New York City. In 1930 he consolidated all the branches of the Bank of Italy, the Bank
of America in New York City, and another Bank of America that he had formed in
California into the Bank of America National Trust and Savings Association.

A second major crisis for the bank occurred during the Great Depression of the 1930's.
Although Giannini had already retired prior to the darkest days of the Depression. he
became incensed when his successor began selling off banks during the bad economic
times. Giannini resumed leadership of the bank at the age of sixty-two. Under Giannini's
leadership, the bank weathered the storm of the Depression and subsequently moved into
a phase of overseas development.

According to the passage, Giannini ----=-=-=eu--- .

1) worked in a bank in Italy

2) opened the Bank of America in 1904

3) later changed the name of the bank of Italy

4) set up the Bank of America prior to setting up the Bank of Italy

The word "'chaos" in line 12 is closet in meaning to ------------ .

1) total confusion 2) legal system 3) extreme heat 4) overdevelopment
According to the passage, which of the following is NOT true about the San Fransico
earthquake?

1) It happened in 1906. 2) It was a tremendous earthquake.

3) It occurred in the aftermath of a fire. 4) It caused problems for Giannini’s bank.

It can be inferred from the passage that Giannini used crates of oranges after the
earthquake ------------- :

1) to hide the gold 2) to fill up the wagons

3) to protect the gold from the fire 4) to provide nourishment for his customers
The paragraph following the passage most likely discusses ----------- ;

1) bank failures during the Great Depression

2) the international development of the bank of America
3) how Giannini spent his retirement

4) a third major crisis of the Bank of America
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Passage 3:

A massive banking crisis occurred in the United States in 1933. In the two preceding years. a
large number of banks had failed, and fear of lost savings had prompted many depositors to
remove their funds from banks. Problems became so serious in the state of Michigan that
Governor William A. Comstock was forced to declare a moratorium on all banking activities in
the state on February 14, 1933. The panic in Michigan quickly spread to other states, and on
March 6, President Franklin D.. Roosevelt declared a banking moratorium throughout the
United States that left the entire country without banking services.

Congress immediately met in a special session to solve the banking crisis and on March 9
passed the Emergency Banking Act of 1933 to assist financially healthy banks to reopen. By
March 15, banks controlling 90 percent of the country's financial reserves were again open for
business.

The passage states that all the following occurred prior to 1933 EXCEPT that ---------,
1) many banks went under

2) a lot of money was withdrawn from accounts

3) many bank patrons were afraid of losing their deposits

4) Governor Comstock canceled all banking activities in Michigan

The word "moratorium" in line 4 is closest in meaning to --------- 3

1) death 2) murder

3) slow decline 4) temporary cessation

The passage indicates that the moratorium declared by Roosevelt affected --------- ‘
1) all the banks in the U.S. 2) the banks in Michigan

3) the banks in most of the U.S. 4) only the financially unhealthy banks

Which of the following can be inferred from the passage?

1) The Emergency Banking Act helped all banks to reopen.

2) Ninety percent of the banks reopened by the middle of March.

3) Ten percent of the country‘s money was in financially unhealthy banks.

4) Congress did not give any special priority to the banking situation.

Which of the following best describes the organization of the passage?

1) A problem and its causes 2) A problem and a solution

3) Opposing viewpoints of an issue 4) A theme followed by an example
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